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Read the tolloﬁng instructions carefully before you begin to answer the questions.

" IMPORTANT INSTRUCTIONS

1. This Booklet has a cover ( this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination, As soon as the signal is received you should tear
the right. side of the booklet cover carefully to open the booklet., Then proceed to answer the
questions.

2. This Question Booklct contains 200 questions.
3. Answer all questions. All questions carry equal marks,

4, You musgt write your Register Number in the space provided on the top right side of this page Do
not write anything else on the Question Booklet,

5. An Answer Sheet will be sup'pugd to you separately by the Invigilator to mark the answers. You
must write your Namie, Register No., Question Booklet S1. No. and other particulars on side 1 of the
Answer Sheet provided, failing which your Answer Sheet will not be evaluated.

6. You will also encode your Register Number, Subject Code, Question Bogklet St. No. etc., with Blue
or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not
encode property or fail to encode the above information, your Answer Sheet will not be evaluated

7. Each questiont comprises four respenses (A), (B), (C) and (D) You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each guestion. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

8, - In the Answer Sheet there are four brackets [ A ]| B |1 { C ] and | D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question. the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows :

[A] i (C](D]

9, You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

10. The sheet before the last page of the Question Booklet can be used for Rough Work.

11. Fallure to comply with any of the ahove instructions will render you liable to such action or penaity
as the Commission may decide at their discretion.

12. For Quésu_rm Nos. 1 to 100 in all matters and in cases of doubt, the English Version is final.
13. Do not tick-mark or mark the answers in the Question Booklet.
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1. PinCGeargevGluiibas srerLme

‘ﬁa/ Fobs allowssd smeurtiser B) apgu ellmss sreurkhisel

C)  eunrs smeunmser D) Bt eurjpeuen.

Gymnosperms are

Q)/ . open seeded plants B) closed seeded plants

C) non-flowering plants - D) = aquatic plants,
2. Olee seursd @i heoL Qundpsg

Al QsénGymbluwr B eouwr Gursrain Aur

C)  Blysefwe D)  sréd e poyser.

Cellular respiration occurs in

A) . centromere . BJ/ mitochondria

C) nucleus D)  golgi compiex.
3. Qegblaev grary Gasr apgéasefles 2 aien @bl Fge HlenewiuRH b umdefhur

A)  sraGoropeeor B;)/mg(gan'nj]mfo .

C)  dlermerui iflgwid D} @@ rQurarmen.

The nigrogen fixing bacterium present in the root nodules of leguminous__plant is

A)  salmonella B\)/ rhizobium

C)}  clostridium D) pseﬁdomonas.

4. Soemdse whHb %@5@5—&61;1' .gu,‘,eﬂu.i @yeoor b @eualsore e phalLRElaTpear

A\l/grr(errsmuL@am‘T B) UeGurenul Giser
C) QLAGLreoL Gast D) siu@uffm(‘él_nmul;@ausft.
Algae and fungi are collectively known as |
A\}/ Thallophytes g B}  Bryophytes
C) Pteridophytes D)  Spermatophytes.
5. @(Bunt‘émn(‘n’&rrfb&,dr asanaismads LIQUTE SOLED ... S sTeuT
SPLOLGSIDPgI. .
A)  yulermig B}  e@uiSlenming
C)  uredlllemming D) &@Gmrrurreﬁlumrrﬁnq..
Numerical changes in chromosomes are known as
A) Euploidy B)  Aneuploidy
\Qf Polypleidy : : D)  Allopolyploidy.
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Y
6. Hleoen@Gamrge 816 & anem Slanpané Gleiig sy getenw ClamesmL @@é@&wﬂmm

@rsssdes Gerluge apeud Qs ereseny yeaaloar JHalULBSEUSDE
HTTEIONE HENOOLIF|

Al @ersden B) @©@persren
C)  egpmedlesr - D elLraveCyret.
Which of the following is responsible for an increase in blood sugar level by

stimulating the dissolution of glycogen granules and consequent movement of
soluble glucose into blood ?

A} Insulin B)/ Glucagon
C)  Thyroxine D) Aldosterone.

7. Ouam uredller e.gly eeniédé@b, @remLrd Moo  urede umqaa‘ﬂm
UETT & £ 5@D HITETIDTS SjeMDRIG!

A) o eGLmaveCrme B) ereulgren.Buréy
C) yGrrogsvlieCyres | D} Mersededr.
Which of the following is responsible for the development of secondary sexual
characters of the female and for the development of female sexual organ ?
A)  Aldosterone | B}~ Estradiol
C)  Progesterone 7 D)  Relaxin.
8. @bdu spfuewecviie - absilifly Syiauwrsen, 2 dpreapd  wHmob
HoaCararaand GHoug ? ‘
A)  spuiuent 2 flemnaef B) eaeny
C)  opflar auflear’ @b Opdipapsst D)  sdssiop sasbhdlyb.
Which one is the most precious part, the soul and key to the Constitution ?
A)  Fundamental Rights Bl Preamble
C)  Directive Principles of State Policy D} Independence of Judiciary.

9. WLaeen srdllanpsara s@dleow basCsTiite @Qube Uflss Geuer @i
eTadt D Sl 2y @nEooTILD 6Tg) 7 -

A)  wgibd wHnid Guwmf Q@unmmmuﬂm@m&nm Codlu 2y emammuid

B) oL cuememt srldlent whoid Lphiegllanpaare Codhu gy enemiub
C) swélueemsii bR LGy 2|60 60TLD

D) flieurs Fiflmpss <) soemmub.

Which Commission had recommended that the Scheduled Caste status be
" delinked from religion ?

A§/ National Commission for Religious and Linguistic Minorities
B)  National Commission for Scheduled Castes / Scheduled Tribes
C)  Constitution Review Commission

D) Administrative Reforms Commission.
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11.

12.

13.

14.

5 , SGTS
2 witdnaingder Coudlyerer Laflaamen wpylLsHE, aa@géo:lfé]uﬁs:smsﬁ Ul &En
S ETTD 2 e _Weul wirk 2 |
Al @hdu @quyer senevsurt B) @hilu sevaamn gHud
C) 2 uiddloap s BHud D)  wrblev @I,

Who has the power to appoint additional judges for the clearance of arears of
work’in High Court ?

A\]/ President of India B)  Chief Jusflce of India

C) Chief Justice of High Court D] Governor of the State.
@pdlu Srue ¢l sdlé 5 b sl nifley aos Qariiy CaremQeieng 7

A) @b GYuUFSiET Gt B)  wrblechidher 2 @heumd@ib (peon
C) @idu eyufiew D) epdue st wrhmd EFwdupenn.
" Article 5 of the Constitution of India deals with .

Nature of Indian Union B)  Formation of states

(l)/ Indian citizenship . D}  Amendment procedure.
‘Sieoarsdlbdu @5 ew vatadlar shag e S pheUGUaT 7

A} - seuamireurdy GCrn B)  sigmi sudeouiml LG é

C)  eneusgTT arevdfl D) QGarssril.

Who is called as ‘Father of All India Services' ? 7 .‘

A) Jawaharlal Nehru B)/Sardar Vallabhai Patel

C) Lal Bahadur Shastri D)  Kothari.

2003 b gyerge 88-aug SyFluewemniiyg HEssh widu vrfle s sansdo Gu
6hg eugheuml UHlTasE Wedu brHpurs Sapdlng 7

A) o eumeump B}  eumwmest aurfl

C} Qarggeuf D) e eugemis.

The 88th Constitutional Amendment of 2003 had introduced major changes in
the distribution of the sources of revenue between the Centre and the Statgs. It

AQ/ Tax revenues ' B} Income tax

C)  Property tax D) Land revenues.

Ghdurelles  ppeipseles  wEsauEHETE  CuTEEEsTEe  1951-1952 &
BeoL GUHDGUTE 2 nilariaefle oamanisamadehiu Lo

A) 489 B) 500

C) 534 D) 545
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15.

16.

17.

18,

India’'s first General Elections were held to the Lok Sabha in 1951-1952 for a
total seats of

by 489 B) 500
C) 534 D) 545.
W&é aigLLanfl oo aLGLTE GeueMBLiur g -
A) 16 Gali_bur, 1921 B) 16 5@ rui, 1921
C) 16 Gle(n i, 1920 D) 16 258 ruir, 1920,
When was the first Communal G.O. issued ?

A 16th September, 1921 B)  16th October, 1921
C) 16th September, i920 D}  16th October 1920.
Nesraimueuiselles, webut bran 4-5 Cad 1926-b @) Geertaman T & azor Sl éo
S{oésTarey Jowhe &Cuéames 2 nifert wri 7
A) P. stiupmwgy Qrlqurs B) A wpepemd pry®
C)  Dr. A. stiugmwesr D)  Guriniell @pregr.
Who among the following was an independent member who formed the ministry
in Madras Presidency during 4th December, 1926 ?
A) P. Subbarayalu Reddiar B) B. Munuswamy Naidu

Cr” Dr. A. Subbarayan D) Raja of Bobbili.
2009 b g@ogdr sflps Hpves sl gdldaug, sbipside  Snnaomeen
aHHOET BT S@hH@e Ll @aluiu. Cauam@®b
A) 7 BT &ef B) 30 prliser
C) 90 mriser D) 120 prisefr,
According to the 2009 Tamil Nadu Marriage Act, the marriages in Tamil Nadu
should be registered within
A) 7 days B) 30 days
Q)/ 90 days D) 120 days.
Fhs Gesdugger GLbOubm Eevhensl Ljsuet

A)  DKPLS BTeuet
B) nbpégju yses Caeuemt
C) wrplurexigid SHenssanul Lgueurr

D} mr. aglogleuh Veranen.




19.

20.

21.

7 SGTS
Which Sri Lankan poet s named in Sangam Literature ?
A)  Arumuga Navalar
BY~  Ezhathu Boothan Devanar
C)  Yazhpanathu Kanagasabai Pulavar

D) Na. Kathiraivel Pillai.

LcgaienL Gemesapalssi Ll BeHurss s BT

A ogeogsaTe:d) © B)  w@eu@eLrd

C)  pesoein @ D) @heduur@.

The book which speaks about "ancient musical tnstrument’ is

A)  Madurai Kanji BY~ Malaipadu Kadam

<) Muliai Paitu D} Rurinji Pattu.

Guée, an fliude whob sseadh Gsooama QETOasOBILIY FHOGEH apeb

SI@UILLLED spefilud Gempaeiiar all L sdler serey eretan ?

A) 6 mm B} 60 mm

C) 8 pm [8]] 60 pm.

What is the diameter of the optical fibres used to carry voice, video and data

signals in telecommunication networks ?

A)  Bmm B) 60mm

C) 6 um D)/ 60 pm.

Ll G greiuflest gy eeto ey geotng.een Gaid@d Guiry

A) seslgrdiast L Gemhe satanmgse Giedding

B} asslgratset acvanmgdelimha ulghe s ddlng

C)  yGpmiLrenser Ll dmbe samanTLHE G ong

D) yGgriLnensei s:a‘mdmrrrmﬁloﬂ@rj@ Ul he e dng.

When a glass rod is rubbed with a piece of silk cloth,

A} electrons are transferred from silk to glass

Bl/electrons are transferred from glass to silk

C)  protons are transferred from silk to glass

D} protons are transferred from glass to silk.
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22.

23.

8

vigwd I g utgud I e dr Qurepsd, &Cp Qer@éesiul Perer Gillfeaens

Quenan® sflure el ows Catbbla®

uliguwd I

2\ Cuimg 651
@)y |
gisenrod ( s )
arddhub -

b c d

3 1 2

2 3 4

3 4 1

2 i 3.

uLigwé I
Leurrfrsot e
ergyiiny Catbey
7H5esCarans

&ML,

Match List I with List II correctly and select your answer using the codes given

List 1

lodine

fron

- Zine

Calcium

w o

[IS I

2

W e 0

1

QL) - aeTLg)

b wrhglen Lt
Q UDEE Fab Bl

the name of a tree

a)
b)
c)
d)
ePliRaer :
a
A) 4
-B) 1
Cy 2
Dy 4
below :
a}
b)
c}
d)
Codes :
a
A 4
B) 1
cy 2
Dy 4
A)
C)
‘Aattanatht’ is
A)
C)

a form of folk dance

BN R

705

B}
D)

B oo

List T
Dwarfism |

Bone dissolution
Anemia

Gaitre.

6 wesTerresesr Gl

S CLEMGHILITL 6.

B.)/ the name of a king

D)

a type of song.



24.

25,

9 . SGTS
utgwd I uigque O 2.0 6é1 Qurmpsd, QY Qar{&Hs i’ @Heier @@ﬁ@&@ﬁﬂ&:
Qara@® gflurer afen_ows Caibsd :

U igwdo 1 uigwéo II

a)  éhow eSeipey 1. Geusrallégig s QeliGu@
b) OBGErsoL W LIThe e 2. 2aCuhdgl ulLwb
c)  @eILmd mibdleurwe 3. 2 gw &HHT LRGSO L LIWD
d) pyélibo aufined 4.  HTE&HGY ULLWD.
eO@ser :
a b c d
A) 3 1 4
B) 2 i 4 3
C) 1 3 2 4
D 4 2 3 1

Match List I with List II correctly and select your answer using the codes given
below :

List 1 List II
a} Simhavishnu 1. Velvikudi Cheppedu
L) Neduchadayan Paranthagan 2, Udayendra Pattayam
c) Nandi Varman II 3. Udaya Sundara Mangala
‘ Pattayam
d) Narasimhavarman 4, Kasakudi Pattayam.‘
Codes :
a b c d
A) 3 2 1 4
B2 1 4 3
C) 1 3 2 4
D} 4 2 3 1

Quirheredoreomid, Y eueusll, GigeTGenamond, #mipe, HDU - EemeuweneT &b

A) Qeréd elearwrl { B) Quemset alemenum
C} et euflur® D) @eubper agiapbleoamen.
‘Porchunnam, Poovalli, Thellenam, Chazhal, Thumbi — all of these are
A)  Sol vilayattu Bd//Pengal vilayattu

C)  Saivar vazhipadu D)  None of these.
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26. npmsu-ne@urast @hdlu S wrdfl abs 9y abige Qem kel g
A) 1992 "B) " 1994
C) 1996 | D} 1997.
In which year of India’s planning was Rac-Manmohan model introduced ?
A) 1992 - B) 1994
C) 1996 : Dr~ 1997.

27. @pdu feiey eundl ueor oeflueou dareupd ogluoLsele sarsdHEDg.
M ,M,, M.3 . M, @m@@tj{@rﬂm etteumb elensamsmefld ag sflurarg e 2

A) M, = néseflean_Cu 2 sfer uaRTiLPSsD + akdlldler Galy eaiys bigrans
B) M, = M, + ssas Galbily maiys Cgras

C) 1\/!3 = Ml + M2 '

D} M, =M,+q'0Q Crie ereans aneulisbieTans.

Reserve Bank of India calculates four components of money supply,
M 1 M2 , M 37 M 4 Which one of the following statements is not correct ?

A) M, = currency with public + demand deposits with banks
B} M, = M, + post office savings deposits

\;/)’ My, =M, + M,

D) M 4 = M4 + total post office deposits.

28. Webteu(msusteupiley 678 GeUDTEDT dnbdm)l ?
Al @hdlureller Sl _sgw aaug e 2LCarsrean el '
B) dliseuy edug umgrepwemn slLgddr gl ild  Seonésiu L
GID
C) Fliseuy obsran® S Lhsaer 2 Haursgsing
D) L seuw oberanh S hsamas QeuduBsang.
Which of the following statements is not correct ?
A) The Planning Commission of India is an advisory body
B)  The Planning Commission was set up by an act of Parliament
C)  The Planning Commission makes Five-Year Plans
\B’]/ The Planning Commission implements Five-Year Plaﬁs.
29. gpEThs LWeS.E Qerdmells ‘PPP aeéug e 7
| A) - sye vhpb sedurt WsSL® Spst B) 2 pusd) HOID eLMbiGD L b
C) seniurt wppb Srs st eowly D) amigd Sner Sjemey.

'



30.

31.

32.

11 - SGTS

What is ‘PPP’ with regard to Government Investment Policy ?

A) Public Private Potentiality B) Productive Purchase Policy
\9/ Public Private Partnership . D) Purchasing Power Parity.
CBadat &bl g aaug aaheTs HOLESILLLE 7
A)  amdl vpdronniy ' B}  @uuissiar npdyenniy
C)  eufle Oarerams wpdreoliy D) ffeurs wpdyemoliy.
Kelkar Committee is esfablished for

Banking reforms . B}  Corporate reforms
\57/ Tax reforms D)}  Administrative reforms.
sal” ey Geuenmedsteow

Al sw 2 gaNG@UsEE @smswrr,r;gj Fnl_(Hmeyd Qarerane e (Bcuenrrmmmuﬁls\}
PGS gious

B)  eSeusmiiset @mmgg Fol Gmeys  QEreisowu  Geuetmadenioliéy
SIGPIUGS IS

C)  dflu B Ppeuearhiset @enanha e @pas Qersiams aqcpéuu@&;gm@

D) Garareow eueriéSeow sabaluPSsiushaTar Qamfle waremGountaefles
&

Co-operative farming is

A} an organisation of SHGs to promote agricultural growth

- BY’ an organisation of farmers extending the principles of co-operation to

agriculture
C) an organisation of MFI's to promote agricultural growth
D)  an organisation of entrepreneurs to promote agricultural growth.

2010-11 awey-Geeey HiLsdar & apors afl Cegbad Gueo zemfufer
aufleSevdg B emmwibd

A) ¢p. 1,60,000 B) . 1,80,000

C}  ¢p. 1,90,000 - D) ep. 2,40,000.

In 2010-11 budget, the income of the woman assessee is exempted to the extent
of

Rs. 1,60,000 B) Rs. 1,80,000
(;1/ Rs. 1,90,000 D) Rs. 2,40,000.

705 ) [ Turn over
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33.

34.

35.

36.

Heteumd smbpsefies soumraig egl 7
A)  shperigé Gewe Hle 2 e own sgrr&ﬂmrrsmg,; Qar_ihg sfhe Gercao®
Seédng

B) slpprige Qswd e 2 aLein &Uw&fﬂmwmgj Sidle @hdlw Hleonen e
sgreflenn el ofleb

C) sbppmige sfle ssalsd wridad HaaemLanllé 2 g
D) ghprmige sfle egpaisbp Ly wrrdare fleaenl el 2 eieng.
Which of the following siatements is not correct ?

A) The average size of an operational land holding in Tamil Nadu has steadily
declined :

The average size of an operational land holding in Tamil Nadu is above the
all India average size of holding

C) Tamil Nadu has a large proportion of marginal land holding

D) Tamil Nadu has a high proportion of area of marginal land holdings.
ahs @ SOPETE s L Cuame semedbsliult g ?

A) 1982 B) 1986

C) 1987 : D) 1989.

When was the Legislative Council of the Tamil Nadu Assembly abolished
A} 1982 B)/ 1986

C) 1987 D}  1989.

ghipasdle aaall ohley algb Gaphs wran LD ag ?

A)  sehsTRYT - B)  wgeog

C)  smuwyfl D} &Leni.

Which of the following districts has the lowest literacy rate ?

A) Thanjavur , B} Madurai
Dharmapuri D) Cuddalore.

gheng wHnKD weald awddt s FEOBTMS Owrsd 50 YOS JED.
6 apLsdbe ey @Eeatsd @omafdar awdlér  GuEsESCBTEaLTaTS
2iEsnwddlar shos aube @@LDLIN&BH’& 2 etengl. sHCUTE Shens LHDIL waeflar
g

A} 40 gy afaser, 10 apsaT B) 4] gyam@ser, 9 gy
C) 38 yyo@est, 12 yaipeeh D) 42 s B(eeh, 8 IO,

The sum of the ages of a father and a son is 50 years. Six years ago, the product
of their ages was twice the father's age at that time. The present age of father
and son respectively are

A) 40 years, 10 years ' B} 41 years, 9 years
C) 38 years, 12 years @)/ 42 years, 8 years.
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37. B & o e dflggaurscidr ganaisomsde absomeo spalpd Hfdaeutast A &

o_GIENaRT 7

Hindu

L
. 180*

(4

B
A 64% | | B). 65%
C)  66-66% | D)  67%.

Christian workers in A are how many per cent of Christian workers in B ?

a E m Hindu

180°

(4}

-
-]

A)  64% - B) 65%
oY 66-66% D) 87%.

38. gwar, @6 olomgse 37 BLLt CGausgdles guemd, 1 wedl 30 bl kst
HLEGD Iyd wrg ?
A) 1898 4l B} 19-18 .8
C) 1988414 D) 1998 &.8.

If a man runs at 3-7 metres per second, how many kilometres, does he run in
1 hour 30 minutes ?

A) 1898 kms B) 19-18 kms
C) 1988 kms W7 19-98 kms.

39. QG Glan@ssleTaraupdles HeupTeis) g 2
A) BOM ‘ B)  TDS
C) GEK ‘ D) MUC.
Find the wrong entry;

A)  BOM By TDS

C) GEK D) MUC.

705 [ Turn over



S5GTS 14

40.

41.

L eferdaluld uaGomgy @Eemedls Qealasos e Gdns.

Lt_Heng
S mihe Qer@astulL elerralbe eleLwe :

)
5

E
]
e

ahe Glswalain Curgs Qeaaillarddlad 20% oo 2 derg 7
A) 2 amey ' ' B} eumLens
C) =z e D}  sovall. -

The pie-chart shows the amount spent as expenditure on various items. Study

the pie-chart and answer for the given question. Which item of expenditure is
20% of the total expenditure ?

Clithing
Rs. 820

A) Food ' B) Rent

¢y~ Clothing D)  Education.

Sifley GeoL Gleusllaefar Gue srevemaadm aag Jemliugpe ComeuiLRH e ?
A) ey SyeoeGlaie el A B) Gudllar maley syemabloudsser
C)  SPer gealey cgaqsms;)@sﬁso'zsraﬁfr D) ) ebiudtiselt.

The upper limit of the class-intervals are required when we consider the
formation of

A) Relative frequency B)  More than cumulative frequency

\9}/ Less than cumulative frequency D]‘ Absolute frequency.

708]
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43.

44,

45.
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o6 yedflelarsme ups swlugdlears Uflseh g wiliysamen aaumg)

Sje padlGpid 7
A)  egrafleer

The nine values which divide a given data into ten equal parts are called

A) averages

C) percentiles

C)  mrbpwreThs

B)
D)

B)

1})/ deciles,

GIT GULDIT & R 61T

uggjmrreurrin&sﬁ.

quartiles

ey Gem. Qeuel : | 0— 10 | 10-—20 | 20—30 | 30— 40 | 40— 50 | 50 — 60 | 60 — 70 |
swale : | 2 12 8 10 12 7 1

30 — 40 eragnip Wifley @ Qeuell euenr 2 oren @aley Sealeuss agl 1

A 20 B) 30

C) 6 | D) 10.
Class interval : 0—10 | 10—20 | 20—30 | 30 —40 | 40—50 | 50 —60 | 60 — 70
Frequency : 2 12 6 10 12 7 1

What is the cumulative frequency up to the class interval 30 — 40 ?

B 30

‘sjei_Flbsmuse LTEDLL SEaou Sots st 2

A} 20

C) 6

A}  Seurg
C) Q&HUIT

‘Ashtadiggajas’ were adorned by the court of

A) Shivaji
C)  Akbar

D)

10.

B)  dlmeiyeom Cgeurmuit
D) amirewt.
B)/Krishnadevaraya
D) -Harsha.

1917 shunresn s5Surdlyssdbe, HThELLE 2 L e Qg veurgeur wir 2

A)  ergmr uBlL.é

C}  J.B. dmurevest)

B)
D)

rrCeohdly dyens

werGgel Cahemil.

Who among the following did not accompany Gandhi during the Champaran
Satyagraha on 1917 ?

Al)/ Sardar Patel

C) - J. B. Kripalani

B)
D)

708

Rajendra Prasad

Mahadev Desai.
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46.

16

afgpéa&,qc'm_mljj@a? & HapTs EUTHSSIUL HeTers ?

A)  dlurw grege — QEF:Gﬂgjlb el
B) smudlu sieyem = &Leum

C) | Bure ST egeoTT | — LB ERaF 60

D) 2 &g dloreres siayem = Qeptindlesh.

Which is wrongly matched ?

A) Nyaya Darsana — Gautam Rishi
B) Sankhyé Darsana — Kapila
C) Yoga Darsana — Patanjali
B  Uttar Mimasa Darsana — Jaimini.
47. @ndlurale savearml & G QeTLEislul L Bt
A)  QelLbut 25, 1915 ‘ B)  Qsiout 15, 1916
C} 6Qumur 27, 1916 D) gebut 30, 1916.
Home Rule League in India was formally ihaugurated on
A) 25th Sgptember, 1915 | E?]/ 16th September, 1916
C)  27th October, 1916 D)  30th December, 1916.
48. 1938 g g @@ CrHala gaewewlles enwbhs Codlu S doupelear sridyen

SEeLTTE Bl(hHeeut wrt 7

A)  smumey shglyGumen B) . P: C. Gegredl

C)  syseriwur pCrpdly Cae ' D) Qeullysmey @rrgrrm@.

Who was the President of the Congress in 1938 when it committed itself to

economic planning and set up a National Planning Commiitee under the

Chairmanship of Nehru ?
AY” Subhash Chandra Bose B) P.C. Joshi

C}  Acharya Narendra Dev D)  Jai Prakash Narayan.



49,

50.

51.

52.

17 , SGTS

‘CaeLssar aan sbp LsPNeosous Qar hduerr wrt ?

A) U V. saumfiprses B} 4im. of. séwrent shsyetmit
C) @umedlis o &enmy D) urn;@u.lrrr'r.

Who started the Tamil Néwspaper ‘Desabhaktan’ ?

A}  U.V.Swaminathan Bl Thiru V. Kalyana Sundaranar
C)  Ramalinga Adigalar D}  Bharathiyar.

GusarGa Ny asa_ e Qer_i e weart 7

A Qurgmiad Fdessio B} &) gy

C) slg Qargiy D) Blyhsy HesufgéLib.

Lord Macaulay was associated with

Aj Reforms in the army B)  Abuolition of Sati

CJ/ Codification of laws D) Permanent Revenue Settlement.
1920 g yoIh) swsdarale poLuin @bdu Caslw &ﬁrﬂéﬁ]qe‘r\) WIHTL I HE
Heevemd eudSSeurm Wy 2 , '

A)  wardor &ThH B) QGurdleré Cum

C)  &Gupdlmprs Lmenigh D) araresmud pr.

Who was fhe President of the Indian National Congress session held at Calcutta
in 1920 ?

A) Mahatma Gandhi B}  Motilal Nehru

C)  Surendranath Banerjee D) Lala Lajpat Rai.
Sipsmesor_supypiel sflures Qur®hHysieng arg 2 |

A) & DLy 65T — Ligh& i

B} Gagr — 2_&dinlrCseb

C)  uiGgmed — SIS

D) saong - - Jam,

Which of the following is correctly matched ?

A} Champaran — Punjab

B) Kheda - Uttar Pradesh
\_Q( Bardoli — Gujarat

D)  Dandi — Bihar.

_ : ‘ | Turn over
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53. 1949 b gl Coeilamrald pibs LL;QGN@?U(S&W wrErlgd Ghdw dndHBldurs

54.

55.

sehg O &meoL e wiri 7
A)  allgue edl ekl B) Sjioqp seumblmmg et
C) aCprghla mmy( | D) syt Questorl.

Whe was Indian Representative to attend UNESCO Conference at Geneva in
1949 ? '

A)  Vijayalakshmi Pandit @/Ammu Swaminathan
C) Sarojini Naidu D}  Annie Besanf.

Fpdactor_cutsener ‘SNDPHTLIGET GTSTUTD’ Greé‘rg)s%pe'ﬁ&,duf_t_ml’r w7

-A) | urgBlunt . B) e 2. flgbuyd

C) & almugrsarssmilurt D) Hmuyf @oiyedr.
Who among the following was called as ‘Dadabhai of Tamil Nadu’ ?
A) Bharathiyar B} V. O. Chidambaram
9/ C. Vijayaragavachariyar : | D)  Tiruppur Kumaran.
Canreisemen 2_(hou 2glUem K6 e‘urﬂs&&ﬂu@g‘sg& :

A)  safl, Oplg e, yCrerev, allwmipesr

B} Gpligyer, eail, yGrearen, allwiped

C)  efumpes, gefl, Qpingy e, yGreren

D) e, Qpigye, eflurpesr, yGrere.

Arrange the planets based on size :

A) Saturn, Neptune. Uranus, Jupiter

B)  Neptune, Saturn, Uranus, Jupiter

"C()/ Jupiter, Saturn, Neptune, Uranus

D)  Saturn, Neptune, Jupiter, Uranus.



56.

57..

58.

19
BL&SSTE sal L b ereTLZ
A)  ve RNeadlwesr Careraailesr Warars GHDUD
B}  ue Blevedwetr pLesdlyhseile yarars @HbUD
C)  ue Dedlwer plsgsdyisar v CoreraeNer YaTarE GHbLD

D) ue Oodludr mepdyiser, Gameismer whmb HnGarersefle
: @& HibLb.
Galaxy is a

A) giant family of millions of planets
B giant family of millions of stars
C)  giant family of millions of stars & planets
D)  giant family of millions of stars, planets & asteroids.
auellps HEGH JRIpSLTs auflamsliuRsas :
L LemL_ (RS
I BT HEHG
. Qeulu Gé&E

IV. Bl o4hés.

@mg’)@eﬁ :
A) LI II & IV B) LIL IV &I
C) vV, IIL I & 11 (D)} ILIL W & 1L

Arrange the atmospheric layer in the ascending order :
L. Stratésphere
11. Troposphere
III. Thermosphere
IV. Mesosphere.

Of these

A LILN&IIV B) LIULIV&I
C) V. 1L 1& 11 D)/ I1, 1, IV &-IlL.
yedlflest yelemt. LD .ovoveveeeiennnn L&D,

A) 6378:5 km B} 61085 km
C) 65005 km ‘ D) 67785 km.
The equatorial radius of the earth is ,

A 63785 km B) 61085 km

C) 6500-5 km , D) 67785 km.

SGTS
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59.

60.

61.

62.

UseT @Tlwener @umupenn &Hf ur G sTeulb

A) 68 mprmisei . Bl 108 mrlsef
C) 110 mriseft D) 88 mrlsei.
The mercury's period of revolution round the sun

A) 68days B) 108 days
C) 110 days Dy 88 days.

st Culer® apeip SiPssawaser Guellmhg &prs
L LG CukiE 6fT
I fyroal oHee
.  umerel HH&G
@eubmyef :
A) LII &III B) L I & 1
¢) Hl&m D) 0IM&L
Three layers of continental crust from top to bottom are
L Sedimentary
II. Granite layer

III.  Basaltic layer.

Of these :
AJ/ 1, 1I & III B} II, 11 & I
C) I T & III D ILIMI&L _
Gsdlu OnHeraTaney eretor. 7 ﬁeﬁrcaﬂmrr@mrﬂmm @\emesrdH@d HHTD
A)  QLéedl B) wgleoy

C) Glacrenen D} eungeondl.

National Highway 7 connects Kanniyakumari with

A} Delhi B) Madurat

C) Chennai D).~ Varanasi.
sBPpET g6 g fludisras scoaurier semvallLib

A) QETOLAGTEIG DM B) aumenm{h wene
C) gsevdlur wene : D) @psit e,

Aryankavu pass of Tamil Nadu is situated in
A) Kodaikanal hills B} Varushanadu hills
\(y Agastya hills D}  Alagar hills.



63.

64.

21

SGTS

OlarHse U (ReTer wenesamen sldE (e Clghe Curad aulmeLDéss :

A} eumeypi(R, fnwee, Gafteurml, melourg)
B) slneoen, Gaieurmi, EDGLIELT G, exi{hapmT(p)
C)  geeurgl. Gereurind, dpinenes, aumhHaunm(
D) Gafreugmd), Alpoenes, selamg, UhauBT (G .
Arrange the hills from North to South

A) Varushnad. Sirumalai. Shervaroy, Javadi
.B3) Sirumalai, Shervaroy, Javadi, Varushnad
ay” Javadi, Shervaroy, Sirumalai, Varushnad

D}  Shervaroy, Sirumnalai, Javadi, Varushnad.

utgue I o ulgue I o é1 QuIpss, £ Qar@sasiul Geia @Pibesmens

Qarcam@ afluret el eus CarhEs® :
Ulgwé X
ACusoor’ QesmPlparene

a) D& & 6] I
by Lmeublwmiygio _ 2.
c)  ersdil 3.
. d)  srevpusg 4.
@BliReer -
a b c d
A) 2 4 3 1
B) 1 2 4 3
C) 3 1 2 4

w

1 2.

‘)}) 4

uCigue IX
Wreu LD
Ge culd
S OmaGeusdl
Smsyniueie)
CemupSH .

Match List I with List II correctly and select your answer using the codes given

below :
List 1
Cement Industry
a) Madhukkarai 1.
b) Dalmiapuram 2.
c) Sankagiri 3.
d)  Thalaiyuthu 4.
Codes :
a b c d
A) 2 4 3 1
B) 1 2 4 3
cy 3 1 2 4
4 3 1 2

D)

705

List IT
District
Salem
Tirunelveli
Trichirapalli

Coimbatore.
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65. ulguwéed I g ulgue II 21 a1 Cummsd), SCp Qaer@ssiu. Qerer GPlDs@ens
Qereoi® #flurer alloLamusd Caine® :

66.

g e I
FRIHO cUDED
FIr@hey eub&ID

SlEhey @IbeD

276ei@ eubed
b c
3 4
4 2
2 1
4 1

1
4

2.

3.

ucgwes II
é\@mmé}
alrmybwett
aniflamy e
miy§lbwed .

Match List I with List II correctly and select your answer using the codes given

a)
b)
c)
d)
Golfser :
a
A) 2
B) 3
C) 3
D) 2
below :
a)
b)
c)
d)
Codes :
a
A) 2
3
C) 3
Dy 2

List 1
Sangama dynasty

Saluva dynasty

Tuluva dynasty

Araveedu dynasty

O o W B

1
4 1

| SR = ]

L

'NJ B

Ll

List II
Thirumala
Vira Narasima
Harihara

Narasimha.

gpésaoL euppet HCriwfler Nbg L QUENILSEG SBTTOTE ellenkhigog g ?

. A)

C)

A)
C)

sanblys adlarug

HTE-2 G -Lnedi

Jawamiul-Hikayat

Taj-ul-Massir

B}

M & BT

D) ',&,nrﬂé,-@—@geﬂl@.
Which among the following was a source for the Arab conquest of Sind ?

B)/ Chach-Nama

D)

705

Tarikh-i-Daudi.



67.

68.

69.

70.

71.

23
e srmiler Gumt penL CLLHD 9y esor®
A) 11756 B) 1179
Cy 1191 D) 1192,
The first battle of Tarain was fought in the year

Al 1175 B} 1179
cy’ 1191 D) 1192

et s Fleow Bineduert wrt ¢

A)  sateflgrb B)  enGudsi

C)  Quilyemey HryTues e D) QGanaGe.

The founder of the Janata party is

A) Kanshiram B)  Ambedkar

C'\J/ Jaiprakash Narayan D) Gokhale.

sury Hleeler Qewd Pyl s HeQeradau @R ayb

A} DDT B) - wregdures

C) Sapsrad &Cenni D) p-eo&BennCnm G\uc&ré’;&w

An example of a fumigant is

A) DDT B}  Malathion

C) Methoxychlor )y Yl p-dichlorobenzene.
gL BRAmba susails FEle Nfga o @oabangu 2.Corsb

A)  arédflub | B)  asmblyb ( erouf )
C) @by D} Guéefub.

SGTS

Which metal is sufficiently concentrated in the oceans to be extracted

commercially ?

A) Ca B) Cu

C) Fe d‘/ Mg.

Srauflanclies greurhsE@é@ OBLTDS anphs uuETURHSSLILGD GuTEBL Seailé

SreoTlIuReus)

A) B, onCuraiub seGul., yflur

B) o, wihlur wbmnn snGoreiud enpl Gl @pbublae seame
C) &b@mrreoﬂmfn_urre?u@uL HEDTF

D) Bies eonplMé subleub.
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72.

73.

74.

Liquid nitrogen as applied to crops contains

A) water, ammonium sulphate and urea

\9,)/ slurry of water, urea and ammonium nitrate
CJ a solution of ammonium phosphate

b) dilute nitric acid.

Gun (7 )y Bur sevemeulles Gimrius:

A) e gsn (smiui soGul ), Firss Feresmrioy wHpD it
B) il ggen (eruur e@Gul ), GemLn eveud wibmid B
C}  Gamurés seGul, yMur whmk it

D} ambly TG, yhur whHmd oioComew,
Bordeaux mixture contains

A_)\/ copper sulphate, hydrated lime and water

B) copper sulphate, sodalime and water

) cobalt sulphate, urea and water

D) copper arsenate, urea and ammonia.

BCY Car@ésiu’ Heretaubnial e Gk BHTaulamL. GHHGD 2
A 2!° B) 2%
o 2% | D) 2%,
Which among the following represents one gigabyte ?
A 2! B) 2%

cp 530

ASCHI srettLieng @HiiLg)

D) 290,

A)  American Standard Code for Information Interchange
B) American Standard Code for Instruction Interchange
C)  American Standard Code for Intermediate Interchange
D)  American Standard Code for Information Implied.
ASCII standé for

A}/ American Standard Code for Information Interchange
B)  American Standard Code for Instruction Interchange
C) Ameri.can Standard Code for Intermediate Interchange

D)  American Standard Code for Information Implied.

705
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76.

77.

78.
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Gener sEnale GoDhHE (Burrm&,g)@m Gare LLevsgeman p_@mrrsugg)@m (&l
ysnes &myemsib

A) CO, B) NO,

2
C) CFC D) O,.

Which of the following is the prime cause for ozone depletion and formation of
ozone hole ?

A Co, 'B) NO

2
9/ CFC - D} 0O,.
Qadeul Gorl erdlifiyg Hpendes sryeovire Ga ss s
A)  SoGureme B) B floCGurensl
C) TelnGurengl _ D)  @usss Hegibee.
The celis responsible for cell-mediated immunity are
A) lymphocytes ' B}  B-lymphocytes
\C)/ T-lymphocytes D) erythrocytes.

SPSaTIL snhpsenen e
L o fleelldn g seuey smég Bi
1. GeauGerifder om adlit sfley B Bée eaég Bi.

@\eubmie :
A)  Toppid I Gras(GCn seuprataal  B)  Twupmd I reomCo &fluereneu

C) leflunerg whoud Il emergy D) 1gamrerg whrd I sflurerg.
Consider the following statements :
I Adrenaline is an emergency hormone
II.  Vasopressin is an antidiuretic hormone.
Of these
A) I &Il are false ' B}‘/l & II are true ‘
C) lis true, but 1l is false D)  lis false, but Il is true.

el turengles Fyren Ceussgi et goer et GledgupGurg)
A) . e GaneGeusnd whnibd WRHEsD dlu GO Wwrorg
B) gt dansGoumd wmmmg). ey (pHESD LMD

C) o WH&EHD wTDTE. e HosGasid wTnLd

D)  sype ﬂ@&@m&@m. (PSSP, BTHUGHD.

705 [ Turn over



SGTS ' 26

79.

80.

- When a particle moves in a circle with a uniforin speed,

A) its velocity and acceleration are both constant

B} ° its velocity is constant but the acceleration changes

C)  its acceleration is constant but the velocity changes

DL its velocity and acceleration both change.

Gwerell Ty s&geuD eTTLG @ Sgyalee

A) @U@'&I@ sl rTainelldT Smardg GeundoL aamseilea wdLy gEDTS
AL :

B) Q@yeoip ereslprenaailst maISs @QUTTIL eemeetler iy @é‘ﬁg)ﬁ&:
NLELNES

C) geeiadie appdl W ok vdluraGair odveg o) e wEliLmeCeur
58y Heveufles semowmsg

D) ooaidg GTeSHLITETSEHD GaaT Gemdil s LEHILSEHD RETDTs
@m&EiD.
Pauli's exclusion principle states that in an atom,
AY two electrons can have all the quantum numbers same
ﬂ no two electrons can have all the quantum numbers same
C)  particles with integer and half integer spin cannot ¢xist in the same state
D) all electrons can have all the quantum numbers same.
@i epemdler eulGu Geded freugdler wrpblame HasGausb
L urflud eacneafing Cnraldlasdld Bmaeeb
I Arepdar oLisdée adialdssde Gusen
. gyridér yrsdne Ceialdlgsdla Guesn
V.  @prier 9rsdbe afitaldlssdle GHaHeD

@leubnyef :
A) @ adgud efluTatane B) I Il opmud IV gflurerened
C) L Mopyd IV eflurarene D) 1L, I whnio IV eflwrearene.

- The critical velocity of a liquid flowing through a tube is
L directly proportional to coefficient of viscosity
Il inversely proportional to density of the liquid
III. directly proportionalfo the radius of the tube

IV. inversely proportional to the radius of the tube.

Of these .
A) All are correct ' B)‘/I, Il & IV are correct
C) LI &IV are correct D) 11, II & IV are correct.

|



81.

82.

83.

84.

27 ' SGTS
NACO-6v elliflaur &aid
A) National AIDS Control Organization
B)  National AIDS Commission l-

C) National Agricultural Corporation
D)  National Academic Council for Orphanage.
Expand NACO :

Ai/ National AIDS Control Organization

B) National AIDS Commission *

C)  National Agricultural Corporation

D)  National Academic Council for Orphanage.

S 146 efGorear@aredlay (Patant 4L ukaeng SMibs 2 epsH@b Ce QT w®e
§Tgy ?

A)  FROGIN _ B) ORANGE

C) SPSS - D)  WEKA.

The software which was developed for precise prediction and forecasting of
haemonchosis in sheep is

A)\/FROGIN _ B) ORANGE

<) SPSS D)  WEEKA.

Bsélu wésEpéEsTeE . Haalld LD ehs < e0myd gHURSSIULL G 17
A) 1988 R B) 1980

C) 1978 . | D) 1970.

National Population Educational Project was launched in the year

A) 1988 : B 1980

C) 1978 : D}  1970.

2010-11 oy gy evong e Qpiwinl L geosdes 2 Husd

- A) 6181 Neellud sgy. S " B)  66-81 Seveflwetr ez, 1S
) 66 d6elwer sgip. S D) 80 Veellus sgy. 1.
In the year 2010-11 the production of fabric was
AL~ 61-81 billion sq. m B) 6681 billion sq. m
'C) 66 billion sq. m | D) 80 billion sq. m.
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85.

86,

87.

88.

89.

siteu Sleewr fluren aerug GHELTENE ...ooceeevev.. Ssmeor SILb.
A)  rbud saal - B) georfloesd saad
C) Cuékleneis soal D)  2.wi sdail.

Sarva Shiksha Abhiyan is one of India's programmes for

A)l/ Elementary education B} Secondary education
C) Higher Secondary education D) Higher education.

CSIR-&1 alfeursain

A) Council of Space and Industrial Research

B) Councﬂ of Scientific and Industrial Research

C) Commission of Space and Industrial Research

D) Commission of Scientific and Industrial Research.
CSIR stands for |

A) Council of Space and Industrial Research

B)/ Council of Scientific and Industrial Research
C) Commission of Space and Industrial Research
D) Commission of Scientific and Industrial Research.

&psacdoi cubflér, aThs @bdlw wrled e uptiuenale e mA_gde 2 ererg ?

A} DaDTITERIG T B) Guameswr

C) wsdHu gGgsh D) 2 &4ly InGme.

Which one of the following is the second largest Indian state in geographical
area ?

A) Maharashtra | B) - Meghalaya

7 C)\Afladhya Pradesh D)  Uttar Pradesh.

Ligh & 17 60T sfr‘rﬁg,sme&rmmen 2 (Beurueut wirt 2

A)  wpsmemd g fgi B)  dlumor sravdflser
C)  umeuemb gL i | D) dursyre.
Pancharatna Kirtanas were the compositions of which composer ?
A)  Muthusamy Dikshitar B) Shyama Shastri

C) Balusami Dikshitar D) l/I‘hyagaraja.
FCursm s Clgrens gaw Curbpelsseut wrr 2

A) LA Géwea Caed B)  LréLi (pdgieoaid
C)  LréLi yenéiiiugeds D)  Lm&LT méweel 2yheior@L e,

706
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Who founded the Theosophical Society ?
A) Dr. Rukmani Devi B)  Dr. Muthulakshmi
CL~"Dr. Annie Besant D) Dr. Rukmani Arundale.

utque I o ulgud I 26 QuTIpsdl, £8p Qer@ssiul Rerar @uiGeeeré
Qeran @ sflurer alaLowg CaihEs® |

UL igwéo I uC g weo TI

al  FTemT il SFRGTU Sl 1. grepevgmest

b)  sbsTecs srHEs 2. ghpprE

Cl (LPESITLIT 65T e 3. yndly IrCssn

d) gregbyt Gaflu ymsr 4,  Guwhe euksrard.
GOlBser :

a b c d
A 3 4 2
B) 4 3 1

2
) 1 2 3 4
D) 3 1 2 4

Match List I with List II correctly and selectl your answer using the codes given

below :
List I List II

a)  Salar Jang Museum 1. Rajasthan

b) Sunderban 2. Tamil Nadu
c) Mundanthurai 3. Andhra Pradesh
d) Ranthambore National Park 4.  West Bengal.
Codes :
a b c d
m/ 3 4 2 1
B}y 4 3 1 2
C) 1 2 3 4
D) 3 1 2 4.
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91. dpseanLapnen oz sflurs Guripisliu aldame 2
A)  Indian Institute of Public Administration — yg O cued
B)- Lal bahadur Shastri National Academy of Administration -— @8 erf
C) V. V. Giri National Labour Institute — GipmiT
D)  Saha Institute of Nuclear Physics - — GlURISEEHIT,

Which one of the following is wrongly matched ?

A)  Indian Institute of Public Administration | . — New Delhi
B) Lal Bahadur Shastri National Academy of Administration — Mussorie
C)- V. V. Giri National Labour Institute — Noida
D)~ Saha Institute of Nuclear Physics ‘ — DBangalore.
92. AB?QE'BEQ"GTL Qudu wasew Coigs Jameamuisaen are wufleosiuBsss
L N.Ganurdemb
II. B.B.Lmeér-

. S.Y. geordl

IV, paler grsuer.

Gleupmye :
A) I L IV obpio 111 B) I, IV, Il wbnio 1
C) L 1L, N wbod [V D) 1.1 whon V.
Arrange the following Chief Election Commissioner of India in ‘chronological
order :
I N. Gopalaswamy

. B. B. Tandon
[II.  S.Y.Quraishi
IV. Navin Chawla.

Of these
y ILLIV&I B) nL v, I & 1
C) LILI&IV D) o, 1, III & IV.
93.  Fpaaleupnst QUIGHETS speiremn hewor (il :
A sk ‘ B)  wexfyf
C) efsyg D}  Credongui.

705



94.

95.

96.

97.

- 31 SGTS
Find the odd man out :

A) Kathak B)  Manipuri

C)  Kuchipudi Q)/ Dandia.

GUHE@ URBSEIGET ..., (PHOIEUTTE DDSHT unestirghl LgeNGubmmit.

A) 10 sugy 3) E1 sugy

C) 12 eug _ D) 13 eug.

Mamala Banerjee was sworn in as .................... Chief Minister of West Bengal.
A)  10th BV 11th

C) 12th D) 13th.

&fg)m@mmmj)@éu' obg  Plneuein  @pdurales  oflalud whpd  CsTfidn U
Qlewsur@aseaild rHUGS e 2

A) ICMR ' B} CSIR

C) FTIR : 7 D) ICAR.

Which one of the following organizations is not involved in Scientific and

Technological activites in India ?

A) ICMR , B) CSIR

Cl~ FTIR D) ICAR.

Qeuy 2 Baragdler gra Sphacor. s wrbeshdle .gqgﬂ&, Ieneiléy dlemsdlng 2
A} Gagerm B)  prgevgimedt

C) dl&dlo D) HfpnrE.

Which of the following states is rich in copper ore ?

A) Kerala o B)‘/Rajasthan

C) Sikkim D}  Tamil Nadu.

afgpé,mso‘on.m[ﬁ@d\i T& DOTOURSEGD ol Fii_sdlé GhEGaTeT even 2

A) 6 Wpaev 14 auwg cuen] 2 &ien GEPbOBHEHHEG LLgeTeT LT G656 sevallenl
Syefllingy

B) Quemaeie #EUTEH whHokd o ffiur ulpfiflane sasgalilig

C)  opbogedild abpé gpomear Gbu@sgiaig

D)  sbhpdlar CuTGs aumeuri Bl Raee 2abhGaliug.

705 - { Turn over



SGTS

98.

32

Which one of the following is not an objective of Sarva Shiksha Abhiyvan ( SSA ) ? .

A} Provide useful elementary education for all children in the 6 to 14 age
group

B) Encourage enrolment of girls and teacher training

C)  Achieve significant enhancement in learning levels of children

IL;»/ To encourage the learning-cum-earning process.

@pdurale Noulibe wparCu Cudn smama s blbhg CeThams Sl GFluyb

UL erlOUTAps Hem(penpuUBSHHIULLF 2

99.

A lwmié, 1994 B) I gereufl, 1994

) 1 gemewﬂ. 1996 D} 1 mrrlr'réﬁ, 1995.

In India Pre-Natal Female Foeticide Prevention Act was implemented from
A) 1st March, 1994 | B3) 1st January, 1994

Cl/ Ist January, 1996 | D) 1st March, 1995.

WTenes &6 LTg&HTiL Sun @bdlu Siyere srubluraps @emimmiul L g ?
A) 1990-1991 | B) 1991-1992

C) 1992-1993 D) 1993-1994,

_Project Elephant ( PE ) was launched by the Government of India in the years

100.

A) 1990-1991 59/1991-1992

C) 1992-1993 D} 1993-1994.
srpny 2ybpé Qamfidmru embwub ( C-WET ) alg emwbaleieng ?
A) Geerane B) (pbeou

C) eflersluligemd D) dlmpasbsLyd.
Centre for Wind Energy Technology ( C-WET } is situated at

Al Chennai BR) Mumbai

Q) Vishakhapatnam D)  Thiruvananthapuram.
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